Ring-Opening Cyclization of Alkylidenecyclopropyl Ketones with

Amines. An Efficient Synthesis of 2,3,4-Trisubstituted Pyrroles

Shengming Ma®®, Lianghua Lu® and Guofei Chen®
®State Key Laboratory of Organometallic Chemistry, Shanghai Institute of Organic
Chemistry, Chinese Academy of Sciences, 354 Fenglin Lu, Shanghai 200032, P. R.
China.
®Laboratory of Molecular Recognition and Synthesis, Department of Chemistry,

Zhejiang Univ., Hangzhou 310027, P. R. China

masm@mail.sioc.ac.cn

Supporting Information

Table of Contents

Analytic data for compounds 3 S2

'H NMR and *C NMR spectra for those compounds S14

S1-



Typical Procedure for Intermolecular Cyclization of Alkylidenecyclopropyl
Ketones 1 with Amines 2. Preparation of Compounds 3: A solution of 1a (67 mg,
0.25 mmol), amine 2a (108 mg, 1 mmol), and anhydrous MgSO4 (15 mg, 0.125 mmol)
in 1 mL of MeCN was stirred for 22 h at 80°C. After evaporation, the residue was
purified by column chromatography (eluent: petroleum ether:CH,Cl, = 2:1) on silica

gel to afford 70 mg (78 %) of 3aa.

(1) 1-Benzyl-2-methyl-3-(ethoxycarbonyl)-4-octyl-1H-pyrrole (3aa)
CgH;;  COOEt

/ \

N
I

Bn
3aa

3aa: liquid; 'H NMR (300 MHz, CDCls) & 7.37-7.23 (m, 3 H), 7.00 (d, J = 6.9 Hz, 2
H), 6.37 (s, 1 H), 5.00 (s, 2 H), 4.29 (q, J = 7.2 Hz, 2 H), 2.68 (t, J = 7.8 Hz, 2 H),
2.43 (s, 3 H), 1.63-1.50 (m, 2 H), 1.36 (t, J = 7.2 Hz, 3 H), 1.42-1.20 (m, 10 H), 0.90
(t, J = 6.6 Hz, 3 H); *C NMR (75 MHz, CDCls) & 166.2, 137.2, 136.3, 128.8, 127.5,
126.2, 126.0, 119.0, 110.9, 59.0, 50.1, 31.9, 30.6, 29.7, 29.6, 29.4, 27.0, 22.7, 14.4,
14.1, 11.5; MS (ED) m/z (%): 355 (M", 32.53), 257 (100); IR (neat) v (cm™): 1697,
1565, 1521, 1454, 1426, 1129, 1082; HRMS calcd for C23H34NO,™ (MH"): 356.2584.

Found: 356.2584.

(2) 1-Benzyl-2-methyl-3-(ethoxycarbonyl)-4-pentyl-1H-pyrrole (3ba)

S2-



CsHp;  COOEt
I\

N
I

Bn
3ba

The reaction of 1b (56 mg, 0.25 mmol), amine 2a (109 mg, 1 mmol), and anhydrous
MgSO4 (16 mg, 0.13 mmol) in 1 mL of CH;CN afforded 61 mg (78 %) of 3ba: liquid;
'H NMR (300 MHz, CDCls) & 7.32-7.15 (m, 3 H), 6.92 (d, J = 6.9 Hz, 2 H), 6.29 (s, 1
H), 4.92 (s, 2 H), 4.20 (q, J = 7.2 Hz, 2 H), 2.60 (t, J = 7.7 Hz, 2 H), 2.34 (s, 3 H),
1.58-1.42 (m, 2 H), 1.27 (t, J= 7.2 Hz, 3 H), 1.38-1.15 (m, 4 H), 0.82 (t, J = 6.9 Hz, 3
H); C NMR (75 MHz, CDCls) § 166.2, 137.2, 136.3, 128.8, 127.5, 126.2, 126.0,
119.0, 110.9, 59.0, 50.1, 31.9, 30.3, 27.0, 22.6, 14.4, 14.1, 11.5; MS (EI) m/z (%): 313
(M", 16.16), 91 (100); IR (neat) v (cm™): 1692, 1564, 1520, 1454, 1427, 1278, 1257,

1129, 1081; HRMS calcd for C0H2sNO," (MH"): 314.2115. Found: 314.2107.

(3) 1-Benzyl-2-methyl-3-(ethoxycarbonyl)-4-(2’-phenylethyl)-1H-pyrrole (3ca)

Bn COOEt
Rat

N
|

Bn

3ca

The reaction of 1c¢ (65 mg, 0.25 mmol), amine 2a (109 mg, 1 mmol), and anhydrous
MgSOy4 (16 mg, 0.13 mmol) in 1 mL of CH3CN afforded 66 mg (75 %) of 3ca: liquid,
'H NMR (300 MHz, CDCls) & 7.40-7.18 (m, 8 H), 6.98 (d, J="7.2 Hz, 2 H), 6.31 (s, 1
H), 4.98 (s, 2 H), 4.34 (q, J = 7.2 Hz, 2 H), 3.07-3.00 (m, 2 H), 2.96-2.87 (m, 2 H),

245 (s, 3 H), 1.39 (t, J = 7.2 Hz, 3 H); °C NMR (75 MHz, CDCls) & 166.0, 142.6,

-S3-



137.1, 136.4, 128.7, 128.5, 128.0, 127.5, 126.2, 125.5, 124.7, 119.5, 110.9, 59.1, 50.1,
37.0, 28.9, 14.5, 11.5; MS (EI) m/z (%): 347 (M, 29.02), 256 (100), 91 (94.33); IR
(neat) v (em™): 1692, 1564, 1520, 1496, 1453, 1428, 1271, 1128, 1084; HRMS calcd

for Co3HyNO, " (MH"): 348.1958. Found: 348.1961.

(4) 1-Benzyl-2-methyl-3-(ethoxycarbonyl)-4-(4’-tert-butyldimethylsilyloxybutyl)

-1H-pyrrole (3da)

TBSO
COOEt

/ \

N
|

Bn
3da

The reaction of 1d (87 mg, 0.26 mmol), amine 2a (109 mg, 1 mmol), and anhydrous
MgSO4 (16 mg, 0.13 mmol) in 1 mL of CH;CN afforded 85 mg (77 %) of 3da: liquid;
'H NMR (300 MHz, CDCls); & 7.29-7.15 (m, 3 H), 6.92 (d, J = 6.9 Hz, 2 H), 6.29 (s,
1 H), 491 (s, 2 H),4.19(q, J=7.1 Hz, 2 H), 3.56 (t, J = 6.2 Hz, 2 H), 2.62 (t, J= 7.1
Hz, 2 H), 2.34 (s, 3 H), 1.58-1.49 (m, 4 H), 1.27 (t, J = 7.1 Hz, 3 H), 0.82 (s, 9 H),
-0.03 (s, 6 H), *C NMR (75 MHz, CDCls) § 166.1, 137.2, 136.4, 128.7, 127.5, 126.2,
125.6, 119.1, 110.9, 63.3, 59.0, 50.1, 32.9, 26.8, 26.6, 25.9, 18.3, 14.4, 11.5, -5.3; MS
(EI) m/z (%): 430 (M™+1, 5.47), 429 (M", 0.77), 372 (100); IR (neat) v (cm™): 1701,
1691, 1565, 1521, 1471, 1429, 1255, 1087; HRMS caled for C,sH3oNO3SiNa"

(MNa"): 452.2591. Found: 452.2574.

(5) 1-Benzyl-2-methyl-3-(ethoxycarbonyl)-4-(2’-butyl)-1H-pyrrole (3ea)

S4-



COOEt

/ \

N
|

Bn

3ea

The reaction of 1e (115 mg, 0.55 mmol), amine 2a (219 mg, 2 mmol), and anhydrous
MgSOy4 (30 mg, 0.25 mmol) in 2 mL of CH3CN afforded 94 mg (57 %) of 3ea: liquid,
'H NMR (300 MHz, CDCls) & 7.32-7.18 (m, 3 H), 6.93 (d, J = 6.6 Hz, 2 H), 6.32 (s, 1
H), 4.95 (s, 2 H), 4.23 (q, J = 7.2 Hz, 2 H), 3.25-3.10 (m, 1 H), 2.36 (s, 3 H),
1.71-1.58 (m, 1 H), 1.45-1.30 (m, 1 H), 1.30 (t, J=7.2 Hz,3 H), 1.14 (d,J=7.2 Hz, 3
H), 0.88 (t, J = 7.5 Hz, 3 H); *C NMR (75 MHz, CDCl5) § 166.1, 137.2, 136.0, 131.7,
128.7,127.4, 126.1, 117.6, 110.7, 59.0, 50.2, 32.0, 30.6, 20.6, 14.3, 11.9, 11.6; MS (EI)
m/z (%): 299 (M", 30.89), 91 (100); IR (neat) v (cm™): 1693, 1516, 1454, 1240;

HRMS calcd for C1oH6NO, " (MH"): 300.1958. Found: 300.1957.

(6) 1-Benzyl-2-methyl-3-acetyl-4-octyl-1H-pyrrole (3fa)

0]

CgH17
|\

N
|

Bn
3fa

The reaction of 1f (59 mg, 0.25 mmol), amine 2a (109 mg, 1 mmol), and anhydrous
MgSO;4 (15 mg, 0.125 mmol) in 1 mL of CH3CN afforded 52 mg (64 %) of 3fa: liquid,
'H NMR (300 MHz, CDCls) & 7.25-7.14 (m, 3 H), 6.90 (d, J = 6.6 Hz, 2 H), 6.26 (s, 1
H), 4.90 (s, 2 H), 2.57 (t, J = 7.8 Hz, 2 H), 2.34 (s, 3 H), 2.29 (s, 3 H), 1.54-1.38 (m, 2

H), 1.33-1.10 (m, 10 H), 0.78 (t, J = 6.9 Hz, 3 H); °C NMR (75 MHz, CDCl;) &

-S5-



195.7, 137.0, 135.6, 128.8, 127.6, 126.2, 124.9, 121.6, 119.3, 50.1, 31.8, 31.1, 30.3,
29.7, 29.5, 29.3, 27.6, 22.6, 14.1, 12.3; MS (EI) m/z (%): 325 (M, 22.94), 91 (100);
IR (neat) v (cm™): 1645, 1504, 1499, 1454, 1418; HRMS calcd for CooH3;NO™ (MH):

326.2478. Found: 326.2469.

(7) 1-Benzyl-2-methyl-3-(benzenesulfonyl)-4-octyl-1H-pyrrole (3ga)

/ \

N
|

Bn

3ga
The reaction of 1g (84 mg, 0.25 mmol), amine 2a (111 mg, 1 mmol), and anhydrous
MgSOy4 (16 mg, 0.13 mmol) in 1 mL of CH;CN afforded 80 mg (75 %) of 3ga: liquid,
'H NMR (300 MHz, CDCls) & 7.91-7.82 (m, 2 H), 7.55-7.42 (m, 3 H), 7.37-7.25 (m,
3 H), 6.96 (d, J = 6.6 Hz, 2 H), 6.38 (s, 1 H), 4.98 (s, 2 H), 2.61 (t, J = 7.7 Hz, 2 H),
2.46 (s, 3 H), 1.52-1.40 (m, 2 H), 1.38-1.17 (m, 10 H), 0.88 (t, J = 6.8 Hz, 3 H); "°C
NMR (75 MHz, CDCls) 6 144.6, 136.3, 134.2, 131.9, 128.9, 128.7, 127.7, 126.2,
126.1, 124.5, 119.6, 117.1, 50.5, 31.8, 29.7, 29.5, 29.4, 29.2, 25.4, 22.6, 14.1, 10.8;
MS (ED) m/z (%): 424 (M'+1, 14.95), 423 (M", 1.03), 91 (100); IR (neat) v (cm™):
1498, 1454, 1446, 1414, 1302, 1166, 1133; HRMS calcd for C;sH33NO0,SNa” (MNa'):

446.2124. Found: 446.2114.

(8) 1-Benzyl-2-methyl-3-(benzenesulfonyl)-4-pentyl-1H-pyrrole (3ha)

-S6-



CgHqy SO,Ph

/ \

N
|

Bn
3ha

The reaction of 1h (77 mg, 0.26 mmol), amine 2a (111 mg, 1 mmol), and anhydrous
MgSO4 (16 mg, 0.13 mmol) in 1 mL of CH3CN afforded 82 mg (82 %) of 3ha: solid,
mp: 81-82 °C, (petroleum ether/ethyl acetate). 'H NMR (300 MHz, CDCl3) &
7.80-7.73 (m, 2 H), 7.43-7.30 (m, 3 H), 7.26-7.15 (m, 3 H), 6.88-6.83 (m, 2 H), 6.29
(s, 1 H), 4.88 (s, 2 H), 2.51 (t, J = 7.5 Hz, 2 H), 2.35 (s, 3 H), 1.45-1.30 (m, 2 H),
1.23-1.10 (m, 4 H), 0.76 (t, J = 7.2 Hz, 3 H); °C NMR (75 MHz, CDCls) & 144.6,
136.3, 134.2, 131.9, 128.8, 128.7, 127.7, 126.2, 126.0, 124.4, 119.6, 117.1, 50.4, 31.6,
29.3, 25.3, 22.4, 14.0, 10.7; MS (EI) m/z (%): 381 (M", 14.93), 91 (100); IR (neat) v
(cm™): 1498, 1453, 1445, 1417, 1310, 1300, 1167, 1136; Anal. Calcd for Co3sHy7NO,S:

C 72.40,H 7.13, N 3.67. Found: C 72.12, H 7.02, N 3.53.

(9) 1-Benzyl-2-(trifluoromethyl)-3-(ethoxycarbonyl)-4-octyl-1H-pyrrole (3ia)

CgH;;  COOEt
/ \
N CF3
B
3ia
The reaction of 1i (80 mg, 0.25 mmol), amine 2a (110 mg, 1 mmol), and anhydrous
MgSO;4 (15 mg, 0.125 mmol) in 1 mL of CH;CN afforded 41 mg (40 %) of 3ia: liquid;
'H NMR (300 MHz, CDCl3) & 7.30-7.18 (m, 3 H), 7.05-6.95 (m, 2 H), 6.41 (s, 1 H),

5.10 (s, 2 H), 4.24 (q, J = 7.2 Hz, 2 H), 2.49 (t, J = 7.5 Hz, 2 H), 1.50-1.37 (m, 2 H),

-S7-



1.27 (t, J=7.2 Hz, 3 H), 1.30-1.08 (m, 10 H), 0.80 (t, J = 6.9 Hz, 3 H); °C NMR (75
MHz, CDCl;) & 164.4, 136.4, 128.7, 127.9, 126.6, 126.0, 123.6 (q, “Jc.r = 1.7 Hz),
120.9 (q, c.r = 267.4 Hz), 120.6 (q, 2Jc.r = 38.0 Hz), 117.8 (q, *Jc.r = 2.3 Hz), 60.7,
52.5 (q, “Jer = 3.3 Hz), 31.8, 30.4, 29.41, 29.38, 29.2, 25.6, 22.6, 14.1, 14.0; °F
NMR (91 MHz, CDCls) & —55.1; MS (EI) m/z (%): 409 (M", 0.57), 91 (100); MS
(MALDI): 432.2 (M"+Na), 410.2 (M"+1); IR (neat) v (cm™): 1720, 1512, 1457, 1463,
1435, 1236, 1157, 1110; HRMS caled for Cy3H3NO,F;™ (MH"): 410.2301. Found:

410.2303.

(10) 1-(4’-Methoxybenzyl)-2-phenyl-3-(ethoxycarbonyl)-4-octyl-1H-pyrrole (3jb)
CgH,7  COOEt

/ \

N~ Ph
K©\0Me
3jb
The reaction of 1j (83 mg, 0.25 mmol), amine 2b (140 mg, 1 mmol), and anhydrous
MgSO4 (15 mg, 0.125 mmol) in 1 mL of CH3CN afforded 76 mg (67 %) of 3jb: liquid,
'H NMR (300 MHz, CDCls) & 7.40-7.33 (m, 3 H), 7.29-7.22 (m, 2 H), 6.87 (d, J = 8.8
Hz, 2 H), 6.79 (d, J = 8.8 Hz, 2 H), 6.46 (s, 1 H), 4.77 (s, 2 H), 4.04 (q, J = 7.2 Hz, 2
H), 3.78 (s, 3 H), 2.73 (t, J = 7.8 Hz, 2 H), 1.67-1.55 (m, 2 H), 1.43-1.20 (m, 10 H),
1.01 (t, J = 7.2 Hz, 3 H), 0.89 (t, J = 6.8 Hz, 3 H); °C NMR (75 MHz, CDCl3) &
165.4, 158.9, 139.1, 132.7, 130.6, 129.7, 128.1, 128.0, 127.7, 126.7, 119.3, 113.9,
111.9, 58.9, 55.2, 49.9, 31.9, 30.4, 29.8, 29.5, 29.4, 26.8, 22.7, 14.1, 13.8; MS (EI)

m/z (%): 448 (M™+1, 10.65), 121 (100); IR (neat) v (cm™): 1700, 1613, 1514, 1481,

-S8-



1249, 1175, 1082; HRMS calcd for CooH3sNO5" (MH+): 448.2846. Found: 448.2832.

(11) 1-(4’-Methoxybenzyl)-2-phenyl-4-methyl-1H-pyrrole (3kb)

The reaction of 1k (40 mg, 0.25 mmol), amine 2b (140 mg, 1 mmol), and anhydrous
MgSO;4 (15 mg, 0.125 mmol) in 1 mL of CH3CN afforded 25 mg (36%) of 3kb. 1k
(20 mg, 50%) was recovered. 3kb: liquid; '"H NMR (300 MHz, CDCl;) & 7.42-7.23
(m, 5 H), 7.00 (d, J = 8.8 Hz, 2 H), 6.86 (d, J = 8.8 Hz, 2 H), 6.55-6.50 (m, 1 H),
6.17-6.13 (m, 1H), 5.04 (s, 2 H), 3.81 (s, 3 H), 2.17 (s, 3 H); °C NMR (75 MHz,
CDCls) & 158.7, 134.7, 133.4, 130.9, 128.7, 128.3, 127.8, 126.7, 120.7, 118.9, 113.9,
110.1, 55.2, 49.8, 11.9; MS (EI) m/z (%): 277 (M", 19.98), 121 (100); IR (neat) v
(cm™): 1699, 1613, 1586, 1513, 1464, 1443, 1249, 1175, 1035; HRMS calcd for

C19H,0NO" (MH"): 278.1539. Found: 278.1536.

(12) 1-(4’-Methoxybenzyl)-2-methyl-3-(ethoxycarbonyl)-4-octyl-1H-pyrrole (3ab)

CgHi;  COOEt

/ \

N

: OMe

3ab

The reaction of 1a (67 mg, 0.25 mmol), amine 2b (135 mg, 1 mmol), and anhydrous

-S9-



MgSO4 (15 mg, 0.125 mmol) in 1 mL of CH3CN afforded 83 mg (86 %) of 3ab: solid,
mp 48-50 °C (petroleum ether/Et,0). 'H NMR (300 MHz, CDCl3) & 6.93 (d, J = 8.5
Hz, 2 H), 6.83 (d, J= 8.5 Hz, 2 H), 6.32 (s, 1 H), 4.91 (s, 2 H), 4.26 (q, J = 7.0 Hz, 2
H), 3.78 (s, 3 H), 2.64 (t, J = 7.8 Hz, 2 H), 2.42 (s, 3 H), 1.60-1.45 (m, 2 H), 1.34 (t, J
= 7.0 Hz, 3 H), 1.36-1.20 (m, 10 H), 0.87 (t, J = 6.8 Hz, 3 H); °C NMR (75 MHz,
CDCl) 8 166.2, 158.9, 136.1, 129.1, 127.6, 125.8, 118.8, 114.1, 110.8, 58.9, 55.2,
49.6, 31.8, 30.6, 29.7, 29.5, 29.3, 27.0, 22.6, 14.4, 14.1, 11.5; MS (EI) m/z (%): 385
(M", 10.44), 121 (100); IR (neat) v (cm™): 1675, 1515, 1467, 1277, 1135; Anal. Calcd

for Co4H3sNOs: C 74.77, H 9.15, N 3.63. Found: C 74.62, H 9.15, N 3.29.

(13)  1-(4’-Methoxybenzyl)-2-methyl-3-(ethoxycarbonyl)-4-(2’-phenylethyl)-1H-

pyrrole (3cb)
Bn COOEt
/ \
N
©\0Me
3cb

The reaction of 1¢ (67 mg, 0.26 mmol), amine 2b (133 mg, 1 mmol), and anhydrous
MgSO4 (15 mg, 0.125 mmol) in 1 mL of CH3CN afforded 75 mg (77 %) of 3cb:
liquid; 'H NMR (300 MHz, CDCls) 6 7.34-7.15 (m, 5 H), 6.92 (d, J = 8.7 Hz, 2 H),
6.85(d,J=8.7Hz, 2 H), 6.29 (s, 1 H), 4.91 (s, 2 H), 4.33 (t, J=7.2 Hz, 2 H), 3.81 (s,
3 H), 3.05-2.98 (m, 2 H), 2.95-2.87 (m, 2 H), 2.46 (s, 3 H), 1.38 (t, J = 7.2 Hz, 3 H);
*C NMR (75 MHz, CDCls) & 166.1, 158.9, 142.7, 136.3, 129.0, 128.5, 128.1, 127.7,

125.5, 124.6, 119.3, 114.1, 110.8, 59.0, 55.2, 49.7, 37.1, 28.9, 14.5, 11.6; MS (EI) m/z

-S 10 -



(%): 377 (M, 11.65), 121 (100); IR (neat) v (cm™): 1690, 1613, 1514, 1454, 1428,

5 ) calc or Upgpg 3 . . . round.: . .
1249, 1082; HRMS calcd for Co4H,sNO; " (MH'): 378.2064. Found: 378.2070

(14) 1-(n-Butyl)-2-methyl-3-(ethoxycarbonyl)-4-octyl-1H-pyrrole (3ac)

CgH;;  COOEt

/\
N

|
C4Hg

3ac
The reaction of la (68 mg, 0.26 mmol), amine 2¢ (72 mg, 1 mmol), and anhydrous
MgSOy4 (15 mg, 0.125 mmol) in 1 mL of CH3CN afforded 41 mg (50 %) of 3ac:
liquid; "H NMR (300 MHz, CDCl3) 6 6.28 (s, 1 H), 4.25 (q, J = 7.2 Hz, 2 H), 3.74 (t,
J=7.4Hz, 2 H),2.63 (t,J=7.4 Hz, 2 H), 2.47 (s, 3 H), 1.70-1.58 (m, 2 H), 1.58-1.40
(m, 2 H), 1.36 (t, J=7.2 Hz, 3 H), 1.40-1.10 (m, 12 H), 0.93 (t, J= 7.4 Hz, 3 H), 0.88
(t, J=7.2 Hz, 3 H); ®C NMR (75 MHz, CDCl3) § 166.2, 135.7, 125.5, 118.1, 110.2,
58.9, 46.2, 32.9, 31.9, 30.7, 29.7, 29.6, 29.3, 27.0, 22.6, 19.9, 14.4, 14.1, 13.6, 11.4;
MS (ED) m/z (%): 321 (M", 24.34), 223 (100); IR (neat) v (cm™): 1694, 1519, 1465,

1429, 1259, 1097; HRMS calcd for Co0H36NO," (MH"): 322.2741. Found: 322.2728.

(15) 1-(t-Butyl)-2-methyl-3-(ethoxycarbonyl)-4-octyl-1H-pyrrole (3ad)

CgH;;  COOEt

/ \

N

+

3ad

The reaction of 1a (68 mg, 0.25 mmol), amine 2d (78 mg, 1.1 mmol), and anhydrous



MgSO4 (16 mg, 0.13 mmol) in 1 mL of CH;CN afforded 41 mg (50 %) of 3ad: liquid;
'H NMR (300 MHz, CDCl5) & 6.49 (s, 1 H), 4.25 (q, J = 7.2 Hz, 2 H), 2.70 (s, 3 H),
2.59 (t, J="7.8 Hz, 2 H), 1.59 (s, 9 H), 1.60-1.45 (m, 2 H), 1.33 (t, J = 7.2 Hz, 3 H),
1.38-1.20 (m, 10 H), 0.87 (t, J = 6.6 Hz, 3 H); *C NMR (75 MHz, CDCl3) & 166.6,
136.3, 123.7, 115.9, 112.3, 58.9, 56.4, 31.9, 30.9, 30.6, 29.8, 29.6, 29.3, 27.4, 22.7,
14.8, 14.4, 14.1; MS (EI) m/z (%): 321 (M", 22.58), 167 (100); IR (neat) v (cm™):
1694, 1563, 1512, 1254, 1215, 1101; HRMS calcd for CyoH3¢NO,™ (MH"): 322.2741.

Found: 322.2741.

(16) 1-(1’-(Methoxycarbonyl)-2’-phenylethyl)-2-methyl-3-(ethoxycarbonyl)-4-

octyl-1H-pyrrole (3ae)

CgH;;  COOEt

/ \

N
Ph. ~
~">cooMe

3ae

The reaction of 1a (65 mg, 0.24 mmol), amine 2e (179 mg, 1.0 mmol), and anhydrous
MgSO;4 (15 mg, 0.125 mmol) in 1 mL of CH3CN afforded 61 mg (60 %) of 3ae. The
reaction of 1a (134 mg, 0.5 mmol), amine (S)-2e (359 mg, 2.0 mmol), and anhydrous
MgSOy4 (30 mg, 0.25 mmol) in 2 mL of CH3CN afforded 158 mg (74 %) of (S)-3ae
with 96 ee% as determined by HPLC analysis (Chiralpak AD-H, hexane: i-PrOH =
90:10, 230 nm), t, = 4.3 (minor), 4.7 (major), [a]*’p -92.6° (¢ 1.3, CHCLy); oil, 'H
NMR (300 MHz, CDCls) 6 7.27-7.15 (m, 3 H), 7.03-6.93 (m, 2 H), 6.55 (s, 1 H), 4.81

(dd, J=9.6,5.7 Hz, 1 H), 4.23 (q, J = 7.2 Hz, 2 H), 3.71 (s, 3 H), 3.42 (dd, J = 13.8,

-S12-



5.7 Hz, 1 H), 3.18 (dd, J = 13.8, 9.6 Hz, 1 H), 2.80-2.50 (m, 2 H), 2.19 (s, 3 H),
1.62-1.50 (m, 2 H), 1.42-1.19 (m, 10 H), 1.32 (t, J = 6.9 Hz, 3 H), 0.89 (t, J = 7.2 Hz,
3 H); *C NMR (75 MHz, CDCl;) 6 170.1, 166.0, 136.6, 136.0, 128.8, 128.5, 127.1,
126.5, 115.5, 110.5, 59.2, 58.9, 52.6, 38.7, 31.8, 30.4, 29.6, 29.5, 29.3, 27.1, 22.6,
14.3, 14.0, 10.9; MS (ESI) m/z: 428 [M"+1]; IR (neat) v (cm™): 1748, 1695, 1521,

1426, 1256, 1087; HRMS calcd for CosH3sNO," (MH"): 428.2795. Found: 428.2782.

-S 13-



s I

[ ORI
0zp p1—

959° 22—
L 220° ¢z
0SE7 62\
Sm,nmw

B ———— +

e \ 972" 62

sk 239 0g~———
E 98 1e

€651

o

o 4
YT ———— <l [
P €61 08
S89C ——— ﬁ [
2007 —— =
o r —_—

g 200755 -

[

€257 92\
i 900" 14 —j==——=
0zb° 2L
i
Le 3
T
mr—— b E © = c
92— f & Z~m0
00EY —— ——
Ty F g
I
r 5
e S€6°0TT
o —
£0QF ———— e
w r 2867971
o) r 1267521\
O _ - L 9p2°977 —
o L6t 221
z-06 & iy
s L LA TA 121
£ 062" 981
X Lo = 622° 26T
g
8 I 5
19— f| L 13
g
L 2
e
L i
sos g f
e 5 ™~ :
<
%M% S L b 6T 99T
8L 3f g
[ ol r H
e ~ -
ovs 2
s [ [
35 =
L -
25z
L 555§
s 3%
3 8.° 3
r & 35 o
T §E2 2
L Z &3 3

ppm

20

T A e e
60 an ’

80

100

S 14-

L e e e e T i e

120

R

180




.59

WeT —— ~

6967 —— .1}

852
gz

covy
By —e

uzy ———=—
wEY

ﬂu

219

ey

Ao

$079

2
3.06

S

Ry

PPM

1

Yi /export/home/masm/vnmrsys/data

v

Archive dicector:
Sample director
File: CARBON

cgr-1-29-2¢

228"
081"
0zt"

926"
008"
288"

828"
000"
0zp°

£96°
82"
0BY"
252"

082"
122"

s2put

Pulse Sequence:

“991

91—\

pe——————
2

o1t

o
b
3ba

e
60 40 20 ppm

L B i e R R ]

T

80

-S15-

1810

T



\1 5€5°TT
| 2157 v
~
S
S9E'L \
66E) L
el
L 20682
™
£10° 28
i 5, 3
vz \ r
T — T
e H ottes
267 ~
16z S L
67 FZ
fiads mJ . 950" 8§

I

r 206611

Teewm
F s sz

£22°921\
L 5167221

100" 82T =
L bev 81—/

617921

Lo 6967967
£60°LET

COOEt

Bn

0
<
gy ————— —s—— 9507071
2
&

ey ———

COOEt

§RsRe
7.84
/ Asa
T T
7
Archive directory /export/home/masm/vaarsys/data
I
2

Sample dirsctory:
File: CARBON
Pulse Sequence: s2pul

Bn

40 20 ppm

e

60

L 825792\
000" —E—————
ozp*

100 &0

-S 16 -

120

140

160

180




e g s o gm N sl g g
TBSO,
COOEt
/)
N
Bn
3da
34
5.49
286 /i g9 SZo4 200 206 _z08 27 /¥ g16 y

Archive directory: sexport/home/masm/vnmrsys/data
Sample directory:
File: CARBON

Pulse Sequence: szpu)

166.126

18.320
14.413
11.504

5.308

—_——— 63.298
— 58,979

—_— 50.183

— 110.896

TBSQ
COOEt
/\
y
Bn
3da

S17-



293
288
264
220
28
221
202
183
91
919

6322

4950

4268

4243

4220

G

[3.00

\’_%—SC\OOE( /export/home /masm/vnmesys /data
ul

o 9 e .
N 2 g : 8 &
Bn H = 2 & 35]. i‘
3ea t
o umme
— T e e T T T T il T i T T e T e T
180 160 140 120 100 80 60 a0 20 ppm

-S 18-



W ——==
LY e
8620

891
szz) /

sevy ——="
2

182z —
Wz
o7
[t

geay

(o]
CgHyz
7\
N

8n
3fa

10.62

_/‘99/, /323

ZL"?3‘.27

:

~0.92

0

308 _77g

PPM

cgf-1-33¢

Archive directory: /export/home/masm/vmrsys/data

Sample directory:
File: CARBON

080708 — "

£25790
R
ozp e

018821

266" 68T ——

800" 28T~

&2pu1

vL 6T

Pulse Sequence

-S 19 -



6382
4978
263

2607
2580

s

CgHyz  SOPh

ol

N

1
Bn

3ga

cof-1-31c

Archive directory: /export/home/masm/vnmrsys/data
Sample directory:

File: CARBON

Pulse Sequence: s2pul

50,461

—144.690
\_22.602

CgHyy  SOPh

7/ \
W
Bn

3ga

B e e I o o B B o o o o R LI T B : T T T o T r R e
180 160 14 120 100 80 60 40 20 ppm

-S 20 -



Fo
- FA7AI
,M/, 9677
2 r vov' 2z
f} L 56852
)
ﬁ 61E°6T
r 9t9°1¢
ey
o L
< 9Tv° 08
I
|\| ﬂ .
32|\| -
e
9082 L
231
]
F 000 —
azbe el
-~
p:9 E
oy Srr————
o 950° 2T
F vIv vt
9867521
r 2617927
969" 221
F 209°971
+ £16°1EY
o 902"l
o 2 £92" 9t
8829 4
§.°|/l 3 L 2
zwe g — % 019 bbT
ey L H
889 1]
0912 z
942 ~ L H
8L ~ £
6LL - L £
Q7L s
uzs -
9nTL [kl s
2L = <
< =
6252 L s
N\ o, R 5
el [e) o H
8982 &, F g -
962 == c a 4
182 > & £ F L . 2
88 © [ ]
see's = _f sz 7
Jece T r b=z 3
20v2 [+ [ £28 §
st s %5 ¢
st r § 2.0 4
fem L 238 e
oL o < nmn 2
it § €4C 3

40

T T

£25°90\

80

100

-S21-

5257 HTT—\

120

L e —

140

160

180




6410
5102

2510

— T~ 2485

S —y v}

164.410

14.081
13.969

CgHy;  COOEY

B
N
Bn

3ia

-S22-




B ]

CoHy;  COOE

i/ \
N~ CF3

|
Bn
3ia

T T T T
0 -50 -100 -150 -200 PPM

27%

e —27%

am
4078
4053
4030
4007
2704

CeHi;  COOEt

2/ \;
N~ Ph
: OMe
3jb
3.12 2,02 L
Jsoa Ffes gor 703 _Agg J300 /209

-S23-



port /home /masm/vnmr sys /data

szpu1

Archive directory: /sex)

Sample director
File: CARBON
Pulse Sequence:

cgf-1-25-¢

0gs°
000°
22b°

958"
999"

$82°
sTL°
969"
16
Iy
289"
219

(8

88T

cgg——

cgg——

9L

i
e

L)

OMe

3jb

200°€

PPM

1]

-S24 -

79 110
076 074 jy

OMe

<
-

3kb




cgf-1-84-1¢c

Archive girectory: sexport/home/masm/vrmrsys/data

Sample directory:

File: CARBON

fie 11

£28°
000°
0zb

TI6

988"
voe”
T
218"
162°

218"
256"
99"

: s2pul

Pulse Sequence

92—\

w

88T

OMe _

3kb

T T T T T T T T T T T

ppm

20

a1

60

a0

100

120

140

160

180

ez
9urz

097 ——
9 —— ==
6907

e -

Ty —

P

oy ———=—
82y

ez

092

OMe

3~
N
3ab

—1/99

1.84

——
OPPM

-

-S25-



Archive directory: /export/bome/masm/vnmrsys/data

Sample directory:
File: CARBON

<cgf-1-15-2¢

ppm

|
ﬁ
r

POS TT .

LA 0 Jpgy W
088 ¥1—

529722
900°22
BIE 62\
mum,zmv
€69°62

603" 06— ——

sve°TE

49

60

s E L
000 1L X
0zb° 2t =

80

100

L S — R
220" vTE—

9287631

b9 221 ,M
861" 82T E
BET 9ET - e W
o
=
j
Bz BST - E Wv W
=1
P21 00 1) —% w”
- [y I
2 3.
] ] .
5 m E -1
H Q £
g O, -
3 = a .
2 — z « i
3 = v
a T b
o r
o

PPM

562

.28

218

[ T S

[2‘ .33

COOEt
OMe
.16
-S 26 -

3cb

Bn

.00

413




caf-1-23¢
Archive uiractory: /export/hons/masa/vamrsys/data
gample directo

e:

Pulse Sequence: s2pul

136.313
43,652
37.058
28.937
14.535
11.581

166.057
158.944
—_59.088

COOEt

/ 1\

N
:‘M
3cb OMe

142,663

Ul 0 oy
T T P ey ¢ L s ey 6 T ey e e e
180 160 140 120 100 80 60 40 20 ppm
4 & §83% &8s g58%
8 LSDI q83%

LN NG

CgHiz  COOEt
/ \

Iy
CyHg
3ac
2.98
—0.90 —203 200 _7
—Y T T 77 T T 7T [ T 7 T 7 [ v T T T T —
7 8 5 4 3 2 1 0 PPM

-S 27 -



cgf-1-27¢

Archive directory: /export/home/masm/vnmrsys/data
Sample directory:

File: CARBON

Pulse Sequence: s2pul

a o o ~ ~ = ™ -
8 g 2 5 3 2 2 2
< ~ < b 2 H B a
w w w = s © @ o
E 2 S b b= n M N

CgHi;  COOEY

f\
N
CqHg

i

3ac

e T T T T T T T T LRRRRAREES T et
200 180 160 140 120 100 80 60 40 20 ppm
& § BREE s B3% #8383359083RE%2

b S SaA 29Ras3Inanangs 333

—_— e 4264
_jé :

CeHi;  COOEE
&

‘?‘
3ad

-S 28 -



yi /export/home/masm/vnmrsys/data

Sample directory:

Archive director:
File: CARBON

cgf-1-46-3¢

ppm
i

007" b1\
STp pY e e
952741 -

959°23

Ses\_ 8 e
~ 655t

vEE 52 L —""

95562

98" 67

109" 05—,

ss8- 05—/ B 3

158 1E

RS
3

40

2097 95 —————

i
r
F
¥
i — — 3
bE6 95 T e 1W
E g —— e
F e } g
30 m= &
§28°92— 4 . -~
000" —F = —— m BOLE ——
0b-iL o
T 8
: _~ .
sovy —— 7=
i =
: 4
s 3 =
S
3 m 8Ly ———=— _4
s—7
u
wrrarr— — — — 1

veE ST ————————

12t
COOEt

3
N
Ph\)\COOMe
3ae

pos g ————————

0T g — —————————— —

14p

T S
CgHyr

160

f P o

pogT I ———————— E

180

Pulse Sequence: s2putl
7FS\
—T—
3ad
A

200

-S 29 -




11h-7-159-1¢

Puise Sequence: s2pul

bog
630°
162"

009"
180°
208"
215"
295"
B6E"
obg”

s28°

26"
v02*

828"
000°
2z

686"
[y
228"
5S¢

SS6°
689"

[

22
N

9L\
e
o

3ae

-S 30 -



